Cdd

ROSE+BOPLA

ENCLOSURES

AAAAAAAAAAAAAAAAAAAAA

Fiberglass Watertight 02
Product Drawings
Last Updated 3/27/2008

Rose+Bopla Enclosures
7330 Executive Way
Frederick, MD 21704
www.rose-bopla.com
rbinfo@pm-usa.com

sbuimeiq [euoisuawiqg

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800



Notes

The All-Around Solution



Cdd
ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

Rose+Bopla’s fiberglass watertight enclosures are the enclo-
sures to use when harsh environments are a problem. These
enclosures are made of compression molded fiberglass, the

Fiberglass Watertight 02

best method for producing a strong, rugged enclosure which
will withstand all conditions: weather, liquids, chemicals and
harsh manufacturing environments. Rose+Bopla’s fiberglass
enclosures stand up to adverse weather conditions and most
industrial chemicals with no deterioration over many years.
They will also withstand the effects of ultra-violet rays.

Our Fiberglass Watertight 02 enclosure consists of a
compression molded lid and base, captive stainless steel lid
screws, molded-in mounting inserts in base, and a foamed-in
polyurethane gasket. Silicone and RFI gaskets are available as
an option.

These Fiberglass Watertight 02 enclosures can be used for TECHNICAL DATA:
water pollution control devices, paper processing controls and « Color: Gray is standard similar to RAL 7000.

ship and harbor beacon signal controls. * Material: Fiberglass reinforced Polyester plastic.

- - ¢ |Impact Resistance: >7Nm, EN50014.
Fiberglass Watertight 02 Enclosures , « Flammability: Self-extinguishing, UL 94 V.

Part Number |  Length | Width | Height | \yeign | Drawing| o Gaset Temperature Range:

(inchesinm) | inchesimm) | (nchesimm) Page # Polyurethane Foam Gasket —40°F to +194°F
0206060300 | 217/ 55| 217/ 55| 146/ 37| .22lbs| 17-34 Silit):lone Foam Gasket _76°F to +266°F

0206060600 | 217/ 55| 217/ 55| 232/ 59 | .28lbs | 17-34 Neoprene Gasket _A0°F to +212°F
0208080600 | 3.15/ 80| 295/ 75| 220/ 56| .50lbs| 17-35 RFI Gasket _40°F 10 4392°F
0208080800 | 3.5/ 80| 295/ 75| 295/ 75| .66lbs| 17-35 ) . .

¢ Captive Stainless Steel Lid Screws.

0208110600 | 433/110| 295/ 75| 220/ 56| 58lbs| 17-36 , ee i
0208110800 | 4.33/110| 295/ 75| 2.95/ 75| .79Ibs| 17-36 * Surface Resistance: >10' Ohm to DIN 53482,

0208160600 | 6.30/160 | 2.95/ 75| 2.20/ 56| .89lbs| 17-37 * Disruptive Strength: 18KV / mm to DIN 53482.
0208160800 | 6.30/160 | 2.95/ 75| 2.95/ 75 1.01lbs| 17-37 * Toxicity: Halogen Free.

0208190600 | 7.48/190 | 295/ 75| 220/ 56| .931bs| 17-38 ¢ Protection Classifications:

0208190800 | 7.48/190 | 2.95/ 75| 2.95/ 75| 1.16lbs| 17-38 NEMA Types: up to Nema 4, 4X

02082306 00 | 9.06/230 | 2.95/ 75| 220/ 56 | 1.30lbs| 17-39 IP 66, EN 60529

0208230800 | 9.06/230 | 295/ 75| 295/ 75| 147lbs| 17-39 * Approvals:

02103208 00 | 12.60/320 | 3.94/100| 3.19/ 81| 2.87Ibs| 17-40 UL Listed File #E206630, UL 50, UL 508
0212120900 | 4.80/122| 4.72/120| 358/ 91| 1.65lbs| 17-40 CSA Approved

0212220900 | 8.66/220 | 4.72/120| 3.58/ 91| 2.33lbs | 17-41 Det Norske Veritas File #828.11/FERe
0216160900 | 6.30/160 | 6.30/160| 3.58/ 91| 2591bs| 17-41 Maritime Register of Shipping #83033.250

02162609 00 | 10.24/260 | 6.30/160| 358/ 91| 3.76lbs | 17-42
02163609 00 | 14.17/360 | 6.30/160| 3.58/ 91| 4.73Ilbs | 17-42
02165609 00 | 22.05/560 | 6.30/160 | 3.58/ 91| 7.02lbs | 17-43
0225261200 | 10.04/255| 9.84/250| 4.76/121 | 5.841bs | 17-43
02252616 00 | 10.04/255 | 9.84/250| 6.34/161 | 7.221bs | 17-44
0225401200 | 15.75/400 | 9.84/250| 4.76/121 | 8.04lbs | 17-44
02254016 00 | 15.75/400 | 9.84/250 | 6.34/161 | 10.58 Ibs | 17-45
0225601200 | 23.62/600 | 9.84/250 | 4.76/121 |11.53lbs | 17-45
02363609 00 | 14.17/360 | 14.17/360 | 3.58/ 91| 8.09lbs | 17-46
0241401200 | 15.75/400 | 15.94/405 | 4.76 /121 [12.30lbs | 17-46
Note: Dimensions are external. Metric is the primary dimension.

Inch conversions and weights are for the user’s convenience and

are for reference only. Accessories shown on drawing pages.

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 1-9



Fiberglass Watertight

02060603 00 External Dimensions: L 55 x W 55 x H 37 mm

Standard Features

* 10093131 00 M4x18 Stainless steel captive combo : * = Conical form tapering downwards
head lid screws. Lid 55/54.5* Free dimensions-tolerance to DIN 16901 - 130
* Non-Removable foamed-in polyurethane gasket. 45/44%
f— o
33/32*%
Accessories . N
T 8
% 1
+ 10093041 00 Mounting Plate screws. O %R .
* 10091001 00 Allen head lid screws. ;{, { Q [
S|o M 1
B <t [ 1
o ' s Cylinder screw
- L - Max18/7
similar to DIN 84___
® ™
55/654.5* 36,7 (total height)
46/45.5*% 29 7.7
"
_34/33.5 M3 b
P
I
R + Top
)
© 328 H---5---Jldq @ ® o G-ty W<
R “ o ]
oo a =Y
TR R= ] !
B i JE e N
A
45 J\ﬁf 8
5 25.7 5
Base ®

(max. fitting height)

02060606 00 External Dimensions: L 55 x W 55 x H 59 mm

Standard Features

+10093131 00 M4x18 Stainless steel captive combo

: * = Conical form tapering downwards
head lid screws. . 1 55/54.5* { Fr jinnf:nsions—toIZran?e to DIN 16901 - 130
« Non-Removable foamed-in polyurethane gasket. Lid ree
45/44*
33/32* )
Accessories I T N
7 \g
-
* 10093041 00 Mounting Plate screws. o4& .
+10091001 00 Allen head lid screws. fg NS [ .
|
~|o|m i
tg <M 1
) o\ . 7 Cylinder screw
N L J Mdax18/7
similar to DIN 84 _,
® ™
55/53* 58.7 (total height)
46/44.5* 51 7.7
x
34/33.5 M3 14
Fr; + Y 1
=y R
2 é :2 — TOp@
© S138] H---+---{igy @ © G- o N«
fo) IS } > d rg
te] ‘g b Lo 8
N g
4
t
45 N 8
® 5 47.7 1.5
‘ - {max. fitting height)
Base

17-34 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

External Dimensions: L 80 x W 75 x H 56 mm

Standard Features

. 80/79.6* )
+ 10093132 00 M4x24 Stainless steel captive combo Lid 66,/65.6" * = Conical form tapering downwards
head lid screws. . Free dimensions-tolerance to DIN 16901 - 130
+ Non-Removable foamed-in Polyurethane gasket. 51/50.6*
" .
t‘j - \D
Accessories . P !
o|g|@ :
* 10093041 00 Mounting Plate screws. r‘{ Q R [ 1| : _______
* 10093092 00 Allen head lid screws. E 's) ; | Cylinder screw
*10052033 00 External Brackets. [ ol 1 Max24(7
+10061101 00 Terminal rail (TS 15). m ! similar 1o DIN 84
* 10089031 00 Mounting Plate. I o
* 10082014 00 4mm Silicon Gasket. ik -
* 10082023 00 RFI 3.5mm Gasket (10.6” length). @
80/79* - 56.5 (total height)
68 41.5 i5
o)) 8.5
M4 32 M3 2.5
3 S ;
) e
i
N f / X ToP
© X[ 9 o {¥-Cor+ -8 -1 @ o H<s
0 T Mo
~ 1 L Mo
|
. ol
P |2,
18
50/49* 10.5
71/70" & 46 5
Base = {max. fitting height)

External Dimensions: L 80 xW 75 x H 75 mm

Standard Features

- - . 80/79.6*
. 10093_131 00 M4x18 Stainless steel captive combo le 66,/65.6% * = Conical form tapering downwards
head lid screws. Free dimensions-tolerance to DIN 16901 - 130
* Non-Removable foamed-in Polyurethane gasket. 51/50.6%
- .
r‘j ; D
Accessories . P ! S
* lin|= I :
Clsl<e |
* 10093041 00 Mounting Plate screws. : @ dll__. |
+ 10093092 00 Allen head lid screws. NI N I i
+ 10052033 00 External Brackets. oz g : Cylinder screw
10061101 00 Terminal rail (TS 15). o = ! ), M4x18/7
+10089031 00 Mounting Plate. ] ' ﬁ’ similar to DIN 84 —
* 10082014 00 4mm Silicone gasket. ASAN Q)
* 10082023 00 3.5mm RF| Gasket (13.3" length). !
® 75.5 (total height)
80/79* - 60.5 15
68 9.5
M\ 59 0.5
2 ‘
‘ e
. o 7
2, s : Il b
o &g M - 8o o 4l S Bt
') I 3o
~ i [ Mo N
] N
! &
D I Il
T f
2 10.5
50/49* 5 65 5]
Base 71/70% (max. fitting height)
- |

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-35

sbuimeiq [euoisuawig



Fiberglass Watertight

External Dimensions: L 110 x W 75 x H 56 mm

Standard Features

+10093133 00 M4x24 Stainless steel captive combo Lid 110/108.6+
head lid screws. 96,795 * = Conical form tapering downwards
* Non-Removable foamed-in Polyurethane gasket. 51/80.6% Free dimensions-tolerance to DIN 16901 - 130
.
“ D
! t
. * :’) * ff 1
Accessories oo !
<3|~ .
*10093041 00 Mounting Plate screws. Ny > RNy I 1 M )
*10093092 00 Allen head lid screws. ES I ' Cylinder screw
* 10052033 00 External Brackets. © T 1 ) M4x24/7
+ 10061102 00 Terminal rail (TS 15). ! ( similar to DIN 84 _
* 10089033 00 Mounting Plate. E o,
10082014 00 4mm Silicone gasket. ®
10082023 00 3.5mm RFI Gasket (13.3" length). 110/109* - 56.5 (total height)
98 41.5 15
89 8.5
M4 72.5 M3 0.5
==
| ZLa N
| r o (s n
d 1 3 G
© K| Qo T 00 @ oS g1---- S A< @
is) T @
™~ I . o
t —
3) ! G
IR - L
L 32 & UL
80/79* & 10.5
101/100* 5 48 5
! max. fittin 21 t,
Base o o itting heigh)

External Dimensions: L 110 xW 75 x H 75 mm

Standard Features

10093133 00 M4x24 Stainless steel captive combo Lid 110/109,6+
head lid screws.
* Non-Removable foamed-in Polyurethane gasket.

96,/95* * = Conical form tapering downwards
81,/80.67 Free dimensions-tolerance to DIN 16901 - 130

N
A=
Vi
<

Accessories

10093041 00 Mounting Plate screws. ]
+10093092 00 Allen head lid screws. ! Cylinder screw

+ 10052033 00 External Brackets. 1 ' Max24/7

10061102 00 Terminal rail (TS 15). m ! (r similar to DIN 84 _
* 10089033 00 Mounting Plate. © 4 o)

+10082014 00 4mm Silicone gasket. !

*10082023 00 3.5mm RFI Gasket (13.3" length).

61.5/60.5%
28/27.6*

75/74.6%

® 75.5 (total height)
11071089 a— 60.5 15 _,
98 9.5
89 0.5
: (s -
|
0|
: = 3 3 e
© X< ner-- toommmm | @ ©® fr------ he <
w 1 Mo
~ | L. M| ©
i
1 © 7
i 2
T T N
. 10.5
80,/79%* 5 65 5
Base 101,/100* (max. fitting height)
-—
T

17-36 The All-Around Solution



®

ROSE+BOPLA

ENCLOSURES

External Dimensio

A PHOENIX MECANO COMPANY

Standard Features

+ 10093133 00 M4x24 Stainless steel captive combo
head lid screws.
* Non-Removable foamed-in Polyurethane gasket.

Accessories

*10093041 00 Mounting Plate screws.
*10093092 00 Allen head lid screws.

+ 10052033 00 External Brackets.

10061103 00 Terminal rail (TS 15).

*10089035 00 Mounting Plate.

+10082014 00 4mm Silicone gasket.
10082023 00 3.5mm RFI Gasket (16.4” length).

@
76/74*
45
8

Lid 160/159.6*
146,/145.6%
131/130.6*
Vo : k:)\
v |5 = I : 5
o|z|e !
<+ |3 ,
NNy - infietiliili i nl-
o> !
[Te) o o0 H
~io | | !
ﬁ I Kr
3 3 : [e]
®

160/ 159* _—
148
133

M4 85.5

%

1
|
j
1
4] 7 S Ty . S
T
1
1
1
1
T

72.5
130/ 129+

151/1560*
Base '

66,/66%

* = Conical form tapering downwards.
Free dimensions-tolerance to DIN 16901 - 130

Cylinder screw
Mdx24/7
similar to DIN 84

56.5 (total height)

41.6 15
8.5
0.5
/L
O ~
Y § Tep
<
® S o) B <}=®
ANINR
10.5
5 46 5

(max. fitting height)

External Dimensio

Standard Features

+ 10093133 00 M4x24 Stainless steel captive combo
head lid screws.
* Non-Removable foamed-in Polyurethane gasket.

Accessories

10093041 00 Mounting Plate screws.
10093092 00 Allen head lid screws.

* 10052033 00 External Brackets.

*10061103 00 Terminal rail (TS 15).

10089035 00 Mounting Plate.

10082014 00 4mm Silicone gasket.

+ 10082023 00 3.5mm RFI Gasket (16.4” length).

Lid 160/159.6*
146/145.6*
131/130.6%
V¢ : -~y
i | ¢
* 15 * I ' N
ol5|@ |
Tlo|~ |
Q\Q ‘M= ==-- [t -
92| :
w S 1
I
I B
®
160,/159* -
148
M4 \ 139 X
[ - il
s :
I
. l . [
| ! &8
© > M toomoe NS
[fe) I M| w0
~ ) [ |0
I
. @
o ’ B
T T
130/129% G
151/150*
Base -

* = Conical form tapering downwards
Free dimensions-tolerance to DIN 16901 - 130

60.5 15
9.5
0.5
4 N To
o 4l : 3] 1o
h N
10.5
5 65 5

Cylinder screw
Mdax24/7
similar to DIN 84 —

75.5 (total height)

{max. fitting height)

a Jeuoisuawig

sbuimel

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800

17-37



Fiberglass Watertight

External Dimensions: L 190 x W 75 x H 56 mm

Standard Features

. i i i 190/189.6*
;223?;13;?3“/’\544)(24 Staness el capie como Lid 1 75;1 75.6* * = Conical form tapering downwards
: : imensions- DIN 16801 - 130
* Non-Removable foamed-in Polyurethane gasket. 161 /1 60.6* Free dimensions-tolerance to

J é !
Accessories 5 |

10093041 00 Mounting Plate screws.
* 10091002 00 Allen head lid screws.

Cylinder screw

75/74.6*
61.5/60.6
28/27.6*

1
1
i ' Max24/7
* 10052033 00 Exter_na\ Brgckets. W ' IJ similar to DIN 84
10061104 00 Terminal rail (TS 15). 1 ' JO
10089037 00 Mounting Plate. \ F ==/
* 10082014 00 4mm Silicone gasket.
* 10082023 00 3.5mm RFI Gasket (19.25” length). @ £6.5 (total height)
190/189* - 41.5 15
178 8.5
M4 169 0.5
3
t
, 7|
: : al% . X
1 ™| Oben
o X9 4 SRRt Cele @ 4i---| s 4SO
o) 1 | @
~ 1 P LB <]
1
. @
5 L 1
160/159* '
181/180* &' 10.5
- 5 46 5
Base (max. fitting height)

External Dimensions: L 190 xW 75 x H 75 mm

Standard Features

10093133 00 M4x24 Stainless steel captive combo

N i 190/189.6* )
head lid screws. ) Lid 1 76/1 75.6% T I+ = Conical form tapering downwards
* Non-Removable foamed-in Polyurethane gasket. /175. Free dimensions-tolerance to DIN 16901 - 130
161,/160.6*
: N
jj ' U
- . 7 | B
Accessories ;»D g ;;) “
* 10093041 00 Mounting Plate screws. = Q ey [ 1 A e Hl-
* 10091002 00 Allen head lid screws. ol } ' Cylinder screw
10052033 00 External Brackets. ~o N , M4x24/7
+ 10061104 00 Terminal rail (TS 15). W ! r similar to DIN 84
10089037 00 Mounting Plate. T o), T
10082014 00 4mm Silicone gasket. '
+ 10082023 00 3.5mm RFI Gasket (17.7" length). ® 75.5 (total height)
190/18%* - 60.5 15
178 9.5
M4 - 169 - 05
1 1 S 2 G%
: N\
5 ! 45 . N ToPe
oSl ¥ Fommmmemes B8l @ ©F fi-----f IR B s
[ls] 1 Mo
r~ I La M| ©
| | 4
' ®
P L 2 5N
' 10.5
160/159* & 5 65 5
181/180* {max. fitting height)
Base -

17-38 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

A PHOENIX MECANO COMPANY

External Dimensio

Standard Features
* 10093133 00 M4x24 Stainless steel captive combo Lid 230/229.6%
head lid screws. ! 216/215.6% * = Conical form tapering downwards
* Non-Removable foamed-in Polyurethane gasket. /. u t { Free dimensions-tolerance to DIN 16901 - 130
201/200.6*%
| .
- * 7 o | .
Accessories slaly & ! &
<[B1= e 0
* 10093041 00 Mounting Plate screws. Iy B N 1 [ { cylind
+ 10093092 00 Allen head lid screws. oy a ' @ ylinder screw
~le [ || Max24/7
* 10052033 00 External Brackets. w ! similar to DIN 84
10061105 00 Terminal rail (TS 15). r@ﬂ %J o
* 10082014 00 4mm Silicone gasket. \d *
10082023 00 3.5mm RFI Gasket (23.2" length).
® 56.5 (total height)
230/228* - 41.5 15
218 10.5
M4 209 C.5
)
b ! i 2o
* & ‘I ol * 0 ) Top
NI ! |8 ® 3 Dy < ®
A A T T """"""" o > @ T
~ ! ol e
'
P ___f » N Prsssaarrrry
200/199*
221/220* ¢ 10.5
- 5 46 |l
Base {max. fitting height}

02082308 00

Standard Features

L230xW75xH75 mm

External Dimensio

* 10093133 00 M4x24 Stainless steel captive combo

. - +
head lid screws. Lid 230/229.6 * = Conical form tapering downwards
*» Non-Removable foamed-in Polyurethane gasket. 216/215.6* Free dimensions-tolerance to DIN 16901 - 130
201,/200.6*
" - N
i P
- o v
Accessories b % & & ! 5
+ 10093041 00 Mounting Plate screws. N ] 1] N o] Q@
*10093092 00 Allen head lid screws. B L) ; s B Cylinder screw
+ 10052033 00 External Brackets. ~So | N i < M4x24/7
10061105 00 Terminal rail (TS 15). fJ\ Iﬁ similar to DIN 84 -
« 10082014 00 4mm Silicone gasket. ol 7N o)
* 10082023 00 3.5mm RFI Gasket (23.2" length). '
@ 75.5 ({total height)
230/229* - 60.5 15
218 9.5
M4 209 0.5
- | R
& ! * 0| <
% : 425 5 N Topg, S
e XY A Foomommmmo e BYES @ ©% fi------ e ¥ 3
%) I o ™ ®
= 1 L S
1 1 m
1 d 6-
b fa\ ] S
200/1997 10.5 D
221/220* S 5 65 5 =
R (max. fitting height) g
Base =3
Q
(7
For Secondary Services, Product Support, or To Order, Call 1-301-696-9800 17-39



Fiberglass Watertight

02103208 00

Standard Features

External Dimensions: L 320 x W 100 x H 81 mm

head lid screws.
* Non-Removable foamed-in Polyurethane gasket.

+ 10093133 00 M4x24 Stainless steel captive combo

Accessories

*10093041 00 Mounting Plate screws.

+ 10093261 00 Allen head lid screws.
10052034 00 External Brackets.

10061106 00 Terminal rail (TS 15).

*10052101 00 External Hinges.

*10011006 00 Mounting Plate.

10082014 00 4mm Silicone gasket.

* 10082023 00 3.5mm RF| Gasket (33.0” length).

Cylinder screw
Max24/7
similar to DIN 84 __

Base

E

Top

H 320/319*
Lid 304;3034‘ * = Conical form tapering downwards
-t Free dimensions-tolerance to DIN 16901 - 130
283/282*
7 T
] :
/ 1
* 1
> * %
23|13 M. o i
SI™ 1
I3y 1
p=i ol 1
¢
i
Uj) L C_’
@ 81 (total height)
320/317.9* - 61
304 20
M4 295 1
! e
3 ! 4 & 4 2
2| o e 32l % Hi------ e
O - Hom - ~[ >~ o
1 0| o
.O_ 1 | &
|
. £
P ,
288/286* 115
310/309* 5 70
- (max. fitting height)

02121209 00

External Dimensions: L 122 xW 120 x H 91 mm

Standard Features

head lid screws.
* Non-Removable foamed-in Polyurethane gasket.

+ 10093136 00 M6x35 Stainless steel captive combo

Accessories

* 10093058 00 Mounting Plate screws.
10093262 00 Allen head lid screws.

* 10052034 00 External Brackets.

*10061401 00 Terminal rail (TS 32).

10061421 00 Terminal rail (TS 35).

10052101 00 External Hinges.

* 10050401 00 Ground Strip.

10089151 00 Mounting Plate.

10082014 00 4mm Silicone gasket.

« 10082023 00 3.5mm RF| Gasket (16.4” length).

Lid 122/121%
108/107*
85,/84*
1
]
o : S
2|8y :
Slel> oot i
g 1
= (\ X
T
@
122/121% ==
106
a5 M6
_ Il
] :
I
5 ¢ ) o5
— ) | 0] -
© oy e -—§<®
8 i B [l ) =
1
1 ! d
b : ]c
82/81* \Q’
113/112* &
-
Base

* = Conical form tapering downwards
Free dimensions-tolerance to DIN 16901 - 130

Cylinder screw
M6x35/10
similar to DIN 84 _

91 (Gesar(total height)

86

2Q
1] 3

I’

M)
[le
s, _—— -
11
5 80

(max. fitting height)

17-40

The All-Around Solution




ROSE+BOPLA

ENCLOSURES

®

02122209 00

External Dimensions: L 220 x W 120 x H 91 mm

A PHOENIX MECANO COMPANY

Standard Features

* 10093136 00 M6x35 Stainless steel captive combo
head lid screws.
* Non-Removable foamed-in Polyurethane gasket.

Accessories

10093058 00 Mounting Plate screws.

* 10093262 00 Allen head lid screws.

* 10052034 00 External Brackets.

* 10061402 00 Terminal rail (TS 32).

* 10061422 00 Terminal rail (TS 35).

* 10052101 00 External Hinges.

* 10050402 00 Ground Strip.

* 10089152 00 Mounting Plate.

* 10082014 00 4mm Silicone gasket.

+ 10082023 00 3.5mm RF| Gasket (23.6” length).

Lid

220/219*

206,/205*
183/182*

120/119+
106.5/106.5

61,/80*

* = Conical form tapering downwards
Free dimensions-tolerance to DIN 16901 - 130

220/219* -

204
193

Q@
120/119*

82
62

=
lo)]

ﬁ

66 /66

Base

180/ 179*
211/210*

-

£

111/110%
@
@

Cylinder screw
M6x35/10
similar to DIN 84 __

91 (total height}

66
20
s
1 J
.
2 é Top
s Al ____ _ <‘F®
11
5 80 5

(max. fitting height)

External Dimensions: L 160 x W 160 x H 91 mm

Standard Features

+ 10093135 00 M6x30 Stainless steel captive combo
head lid screws.
* Non-Removable foamed-in Polyurethane gasket.

Accessories

+ 10093058 00 Mounting Plate screws.
10093263 00 Allen head lid screws.

* 10052034 00 External Brackets.

10061403 00 Terminal rail (TS 32).
10061423 00 Terminal rail (TS 35).
10052101 00 External Hinges.

* 10050404 00 Ground Strip.

10089106 00 Mounting Plate.

10082015 00 5mm Silicone gasket.

+ 10082024 00 4mm RF| Gasket (22.0” length).

Lid

160,/159.5%

142/141.6%
114/113.5%

160/169.6*

142.5/140+

@
160,/159*

110
76

®160/159* =
140
132 M6

¢ 1 /
l
'
! #*
: Y Y
------ +---—--H2 @

1 Q|
' | <
1 2| -
]
= E

Base

120/119+ '
148/147% 7,

® =

* = Conical form tapering downwards
Free dimensions-tolerance to DIN 16901 - 130

Cylinder screw
M6x30/10
similar to DIN 84 __

91 (total height)

b

5.6

211

Top

79 5

(max. fitting height)

a Jeuoisuawig

sbuimel

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800

17-41



Fiberglass Watertight

External Dimensions: L 260 x W

Standard Features

+ 10093135 00 M6x30 Stainless steel captive combo Lid 260,259 5% _ _ _
head lid screws. 242/241 5% = Comcal f_orm tapering downwards
« Non-Removable foamed-in Polyurethane gasket. 2147213 5% Free dimensions-tolerance to DIN 16901 - 130
B E—
727 e )|
@ 1
9) | lo
N x| * 1
Accessories 'g g & !
+ 10093058 00 Mounting Plate screws. g E @ - l---------- F Cylinder screw
*10093263 00 Allen head lid screws. ool : M6x30/10
+ 10052034 00 External Brackets. ol |® 1 similar to DIN 84 _
*10061404 00 Terminal rail (TS 32). :
« 10061424 00 Terminal rail (TS 35). @ ] J(@
10052101 00 External Hinges. INGA ! 9/ .
+ 10050405 00 Ground Strip. ® 91 (total height)
+10089107 00 Mounting Plate. 260/259* - 71 20
+ 10082015 00 5mm Silicone gasket. 240 20
+10082024 00 4mm RFI Gasket (29.1" length).
232 M6 1] -
, . [ s
g T Fol-=—~— E%
1 E e - - - =
. . . 2 A
=) 1 r WMo s 9 ET Top
@ O o © 1 I % < s @
<=8 er-------- temmmmm- I © L/ N <
S| ! ol
@ ) &| <
- e ! 2 - | ||
) : i@ f
p S§N
220/219* 11.6
248/247* % & —79 . .5
- {max. fitting height)
Base

External Dimensions: L360 x W160 x H91 mm

Standard Features

+ 10093135 00 M6x30 Stainless steel captive combo B
head lid screws. Lid 260/359.5*

— -
« Non-Removable foamed-in Polyurethane gasket. 342/341.6% | Freecg ir:;cear:;‘iz;rgttglzer;gcge(itgvg;l\&v ?rso;sm 130
314/313.5%
iz : Y
j D
Accessories x| ,
514l .
* 10093058 00 Mounting Plate screws. 2 = !
*10093263 00 Allen head lid screws. NI Q (1 S B Cylinder screw
* 10052034 00 External Brackets. 2% 3 M6x30/10
10061405 00 Terminal rail (TS 32). -

similar to DIN 84 __

10061425 00 Terminal rail (TS 35). @
*10052101 00 External Hinges.
* 10050406 00 Ground Strip. T

10089108 00 Mounting Plate. ® 91 (total height)
. ; -
+10082015 00 5mm Silicone gasket. 360/359* . 71 20
+10082024 00 4mm RFI Gasket (37.0" length). 340 20
332 M6 1. -
i / Az ) a%
+ ] e
% ‘ N\
* : * Q) %
* 1 r Ml o -4 Top
©2 g - 3|2 g
~| o~ e +--mmmmm - Sy o ®© T - Ny <
3 : o <
2 R : o =+ i |
! e
d : Grirrrrroresd A N\
320/319+ \Q% 1 2 - .
Base 348/347* @ (max. fitting height)
-

17-42 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

02165609 00

External Dimensions: L560 x W1

A PHOENIX MECANO COMPANY

Standard Features

* 10093135 00 M6x30 Stainless steel captive combo

' Lid 560,/559,5*
head lid screws. - -
X . | * = Conical form tapering downwards
* Non-Removable foamed-in Polyurethane gasket. ??i;::’;; } Free dimensions-tolerance to DIN 16901 - 1ﬂ
7 1
) &
o] 9
Accessories 5 ;‘? L & : 5
+ 10093058 00 Mounting Plate screws. 3 Ny g | “ _______ 4
10093263 00 Allen head lid screws. e T Tt < Cylinder screw
+ 10052034 00 External Brackets. SIS i i M6x30/10
* 10061406 00 Terminal rail (TS 32). A i — similar.to DIN 84 __
* 10061426 00 Terminal rail (TS 35). ! g
+10052101 00 External Hinges. @ o= I15)
10050407 00 Ground Strip. ' 31 (total height)
+ 10089109 00 Mounting Plate. &, /650% -
* 10082015 00 5mm Silicone gasket. b 71
* 10082024 00 4mm RF| Gasket (54.7” length). 540 20
532 ME 1.4 _
3 . f HEZT s
X e
3 Yoo ¥ g o
- | < ! ! hl B A [
© > = 2 ler------mme - B 4 -2 @ © A1----- - -y < ®
i olo!
© 1 D|N| <
1 ? -]
| L]
1
b /A%
520/519% \R’% 11.2 2 s
Base 548@“‘ © (max. fitting height) |
® =

02252612 00

External Dimensions: L 255 x W 250 x H 121 mm

Standard Features

Base

* 10093136 00 M6x35 Stainless steel captive comb Lid 255/254+ * = Conical form tapering do 3
head lid screws. s - wnwares
 Non-Removablé foamed-in Polyurethane gasket, 237/236* Free dimensions-tolerance to DIN 16901 - 130
208,/208*
7 %7 )
Accessories Sl 1
<M
* 10093058 00 Mounting Plate screws. Q Q g
10093262 00 Allen head lid screws. RN Cylinder screw
* 10052034 00 External Brackets. NN — | M6x35/10
. " 3
*10061414 00 Terminal rail (TS 32). similar to DIN 84
+ 10061434 00 Terminal rail (TS 35). ot o ’
*10052101 00 External Hinges.
* 10050405 00 Ground Strip. @ .
+ 10089141 00 Mounting Plate. 121 ftotal height)
10082015 00 5mm Silicone gasket. 255/254% - 96
10082024 00 4mm RF| Gasket (35.0” length). 2325 20
227 M6 1 —
3 —4 ®
* % P
2 - el 9 2 Top
© Q888 = |9 . ©
~1 Q9 e NN ®© R <
o (o} ]se)
g o 5| 215
il k o
id =5
215/214% \p( 116
243/242+ e [ 109 5
- {max. fitting height)

a Jeuoisuawig

sbuimel

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800

17-43



Fiberglass Watertight

02252616 00 External Dimensions: L 255 x W 250 x H 161 mm

Standard Features

+ 10093070 00 M6x75 Stainless steel captive combo Lid 255/253+ * = Conical form tapering downwards
head lid screws. 237/235*% Eree dimensions-tolerance to DIN 16901 - 130
* Non-Removable foamed-in Polyurethane gasket . /
209/207*
7 L;w
“ 4
. * *
Accessories Bo|&|&
S|R[S
* 10093058 00 Mounting Plate screws. B I X
+ 10091006 00 Allen head lid screws. RIS Cylinder screw
+ 10052034 00 External Brackes. Npe—p M6x75115
+ 10061414 00 Terminal rail (TS 32). m (( similar to DIN 84
* 10061434 00 Terminal rail (TS 35). NS </
10052101 00 External Hinges.
10050405 00 Ground Strip. @ 161 (total height)
10089141 00 Mounting Plate.
+ 10082015 00 5mm Silicone gasket. 255/254* .96 65
+ 10082024 00 4mm RFI Gasket (35.0” length). 235 20
L 227 M6 1 —
) L / s
3
5 5L o e To
NE=ES | NP S 7l p@
®© glge g e © <
Q AN O |
] . b I
1@
d : F s NNNANN
215/214x% \<?< 15
243/242* | @ 6 149 5
(max. fitting height)
Base

02254012 00 External Dimensions: L 400 x W 250 x H 121 mm

Standard Features

+ 10093136 00 M6x35 Stainless steel captive combo

head lid screws. Lid 400/39¢+ * = Conical form tapering downwards
* Non-Removable foamed-in Polyurethane gasket. 382/381* Free dimensions-tolerance to DIN 16901 - 130
354 /363*
e
72! &3\

Accessories

+10093058 00 Mounting Plate screws. | | ~A~=| -H---------"-
10093262 00 Allen head lid screws. Cylinder screw

* 10052034 00 External Brackets. A ) M6x35/10

* 10061407 00 Terminal rail (TS 32). W ' ” simiiar to DIN 84 —
* 10061427 00 Terminal rail (TS 35). 1 % o,

* 10052101 00 External Hinges.
* 10050411 00 Ground Strip.

* 10089143 00 Mounting Plate.

260/249%
232/231*
1747173+

121 (total height)

x
10082015 00 5rmm Silicone gasket. 400/398 > 96 2%
* 10082024 00 4mm RF| Gasket (46.9” length). 380 29
372 M6 Ll —
B
¢ : / 5 e a%
% : 7 i &\
* 1 x T 10|
@ ' w|© 1 A Top
3 ao ! c LIEIR S )
© (88 fo----- oenneste J=Sl @ ¥ Fl--- 4 <
(=] i 1 [aR: o]
2 lo ' 3l @& ||
! @
b 1 F IH
360,358+ ' \Q 1.5
388/386* 4 6 109 L5
- {max. fitting height)

Base

17-44 The All-Around Solution



ROSE+BOPLA

ENCLOSURES

®

02254016 00

External Dimension

400 x W 250 x H 161 mm

A PHOENIX MECANO COMPANY

Standard Features

* 10093070 00 M6x75 Stainless steel captive combo
head lid screws.
* Non-Removable foamed-in Polyurethane gasket.

Accessories

* 10093058 00 Mounting Plate screws.

+ 10091006 00 Allen head lid screws.

* 10052034 00 External Brackets.

* 10061407 00 Terminal rail (TS 32).

* 10061427 00 Terminal rail (TS 35).
*10052101 00 External Hinges.

* 10050411 00 Ground Strip.

* 10089143 00 Mounting Plate.

10082015 00 5mm Silicone gasket.

* 10082024 00 4mm RF| Gasket (46.9 length).

Lid 400/398*
382/380%
364/352+
¥d !5\
plalaf ] )
AN
NN —
NN
N
W | M3~
NN = i J
N2 J@
@
400,398+
380
372 M6
K
& %ﬂ 5
< ol
© 9[gs S
o N - oS
& o 9|
&
3 g
360/358+ \\if
388,/386* o
=
Base

238/236%
©

* = Conical form tapering downwards
Free dimensions-tolerance to DIN 16901 - 130

11.6

Cylinder screw
M6x75/15
similar to DIN 84 _ _

161 (total height)

96
20

6 149 5
{max. fitting height)

02256012 00

External Dimension

600 x W 250 x H 121 mm

Standard Features

* 10093136 00 M6x35 Stainless steel captive combo
head lid screws.
* Non-Removable foamed-in Polyurethane gasket.

Accessories

+ 10093058 00 Mounting Plate screws.

* 10093262 00 Allen head lid screws.

* 10052034 00 External Brackets.

* 10061408 00 Terminal rail (TS 32).

* 10061428 00 Terminal rail (TS 35).
*10052101 00 External Hinges.

* 10050412 00 Ground Strip.

* 10089144 00 Mounting Plate.

* 10082015 00 5mm Silicone gasket.

* 10082014 00 4mm RF| Gasket (59.8" length).

S)

* = Conical form tapering downwards
Free dimensions-tolerance to DIN 16901 - 130

Lid 600,/599*
582/581%
354 /353+
1
GJ) 5
e s | 24 I} ('S
@|= o < oy
<+ | S
NN g
O oN| < }
0 [~ Q
N|N|— ~N
fa
N ) o)
T
®
600,/598* -
580
572 M6
%( S
K
e ) - el
x o . ™~
39 QK
2 8|23
~ 3|~y
S|
P
560,/558* ' &
588,/586* @
=
®
Base

Cylinder screw
M#6x35/10
similar to DIN 84

121 (total height)

g6
20

211

115

6 109 i
(max. fitting height)

a Jeuoisuawig

sbuimel

For Secondary Services, Product Support, or To Order, Call 1-301-696-9800

17-45



Fiberglass Watertight

02363609 00 External Dimensions: L 360 x W 36

Standard Features

+10093135 00 M6x30 Stainless steel captive combo Lid 360/359+ * = Conical form tapering downwards

head lid screws. 342/341% Free dimensions-tolerance tc DIN 16901 - 130
* Non-Removable foamed-in Polyurethane gasket. 314/313%

Accessories

*10093058 00 Mounting Plate screws.
+ 10093263 00 Allen head lid screws.
+ 10052034 00 External Brackets.
10061405 00 Terminal rail (TS 32).
10061425 00 Terminal rail (TS 35).
*10052101 00 External Hinges.

* 10050406 00 Ground Strip.

Cylinder screw
M#6x30/10
similar to DIN 84

-

360/359*
342/341*
284/283*

@1 (total height)

* 10089145 00 Mounting Plate. 360/359* 71 20
+10082015 00 5mm Silicone gasket.
+10082014 00 4mm RFI Gasket (53.5” length). 340 20 55
330 M6 14 —
. / s
. 9 . IS L
Bl o g If ik b g Topy,
© &89 + iR @ ® N <
[=AE le. B (E=3ES)
e o |5
L] & 3| Ny ||
ud W
320/319%
348/347+ o 1.5
Base et 6 79 5

{max. fitting height)

02414012 00 External Dimensions: L 400 x W 405 x H 121 mm

Standard Features

. i i Lid 400/39¢* i * = Conical form tapering downwards
;gggﬂsfcggw’\sﬂ_sxso Stainlesssteelcaptive comoo 382/381+ ] Free dimensicns-tolerance to DIN 16901 - 130 |
* Non-Removable foamed-in Polyurethane gasket. 354,/353*

), Sy
Ny
Y iy

Ao/

Accessories

+ 10093058 00 Mounting Plate screws.

Cylinder screw
10093263 00 Allen head lid screws.

4065/404*
387/386*
329/328*

Méx30/10
* 10052034 00 External Brackets. G ( similar to DIN 84 __
* 10061407 00 Terminal rail (TS 32). m ﬁ
* 10061427 00 Terminal rail (TS 35). INGA 2/
10052101 00 External Hinges.
+10050411 00 Ground Strip. ® - 121 ttotal height)
* 10089146 00 Mounting Plate. "
+ 10082015 00 5mm Silicone gasket. 400/395 9 25 _
+10082014 00 4mm RF| Gasket (58.3" length). 380 M6 20
372 1 —
s
3
N
3 i o T Top
=92 eabel | | N <=
© 88 e
o (@
< e ol e kel |
i 3\ @
; =
360/358* \Q 11.5
388/386* o 6 109 5
b {max. fitting height)
Base

17-46 The All-Around Solution



